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I'he first sports trainer of Rajasthan who received ‘Draunacharya Award’ 15!

tA) Rapvavardhan Singh Rathore (B) Prof. Karan Singh
(U} Satpal Singh (D)} Vijendra Singh Punia
TIETT &1 9% o We wf¥ere R oomant qaew fian 2
(A) oI fig vt (B)_w T e

(C) ¥Imre fie (p) faor Rig gfwm

Which of the following matches is not correct 2
(A)  Bhuveneshwari Kumari - Cricket (B} Suresh Mishra - Volleyball
(C)  Khushiram - Baskethall (D) Varsha Soni - Hockey
Fmnfi i w9 W gm w@iem 39 2 2

\_{ﬂl-"/‘j;-‘@d{i AR — foge (B) ¥ fsn — didfata
(C) TEiRm — anaeard (D) aul WF - ¥

" Gurdwara Buddha Johad is located near to

(A} Raisingh Nagar (B) Churu
{C) Fatchpur Shekhawati {D) Kota
TN gy Siws feed aw Rud £7

(A) _zffETTr (B) &

(C) weEyE e (D) @

“Shakkar Peer Baba' 1s popularly known as

(A} Gogamedi Mandir (B)  Gareeb Navaz Dargaah

{Cy Narhad Dargaah (D) Nizamuddin Olja Dargaak

(A) T wfew (B) & T avre

© eg<om (D) P siferan g
3
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6. & In which district Ramsagar Vanvihar Sanctuary ol
(B} Churu
ur
(C) Pratapgarh (D) Dhaulp

(A) e W
(C) vawre (

7.} Rajasthan State Woman Commission was constituted in
(A) 1995 (B) 1990
(©) 1999 (D) 2001
VINTRIT 157 Afedl AT %9 Tfed fear mam ?

(A) 1995 (B) 1990

8. ) Major raw material of thermal power is

(A) Jaisalmer

(A)  Uranium (B) Coal

(C) Copper (D) Zinc

(Ay TfTH W o

(C) dfar (D) < -
9. ) The period of XII five year plan is =

(A) 2002-07 (B) 2007-12

(C) 2012-17 - (D) 2010-15

1291 gedty O &) sy @ AL

(A) 2002-0 (BM e

(C}}}n{?/ " (D) 2010-15 . i

10.+ State Bird of Rajasthan is
(A) Peacock (B) Godawan
(C) Parrot

(D) Nighti
TSR & Iy el el

(A) i @)

(€Y " ©) Fogw .
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The Persian translation of Mahabharat 1s

(A) Tuzuke-Babri (B) Ain-e-Akban
(C) Jaismhita (D) Razmnama
RIS @1 BRE SFdTE ERATT E

(A) TA&-919 - (B) IEA-STHE
(C) au;v%@ (D) oA

™

As per Census 2011 the total literacy rate of Rajasthan is

(A) 54.71 (B) 67.06
(C) 78.13 (D) 71.82
STTTOTT 2011 @ STER VORI B el TR €Y
(A) 5471 06
(C) ~78.13 .. (D) .82

Bor (Borla) is worn on
(A) Wnst
(C) Armms

R ( dReT ) BT e ®

(B) Forehead
(D) Nose

(A) TETE W @R

(C) a9 W (D) ¥H W

First Education Minister of Rajasthan was
(A) Bhogilal Pandya

(C) Prem Narayan Mathur
ORI % o fen W= o

(A) Hrfteel 9o o (B) YwRM widErs
(C) Wm e

“Kajli Teej’ is celebrated in
(A) Jaipur

(C) Bundi

‘Eorell TR 7 o ®
(A) SHOR

& /@3‘1’/ | | (B) R

b . ‘-(D)W

[ 4

(B) Teeka Ram Paliwal
(D) Harvilas Sarda

(B) Jodhpur
(D) Udaipur
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16. When did modern Panchayati Raj System inaugumtcd ?

" (A) 20ct 1959 @B) 20ct 1952
(C) 12 Oct 1957 @) 120ct. 1993
I Tt T 7 YR e g 7
(A) 2875, 1959 (B) 2, 1952
(C) 12 31T, 1957 D) 12 ¥, 1993

'{}I? @ The geographical area of Rajasthan is almost equal to
7 (A) Canada (B) Germany
(C) France (D) Australia

R & WM Sa%d & T fhgs avEr € 7
(A) el (B) I,
(C) wE (L\)ﬁ@l’m

18.  Which district of Rajasthan is known as “Tapobhoomi of Malvas’s King Bhirtrihari™ ?

(A) Jaipur (B) Bundi
(C) Kota (D) Alwar
IR BT DI A1 e werar & I ygER B aumy e § 2

(A) R B @
(C) Brer (M

19. The apex body responsible for sports development in Rajasthan is -

" (A) S.M.S. Stadium (B) Rajasthan State Sports Council
(C) Nehru Yuva Kendra (D) BCCI
AR A Wl B IS B STverd Hatem wwar
(A) TETHTE, Rfemm (R)/w@ T e TRz -
(C) Fe° a1 B () NHAMIE, [1- ¢ o

20. Which of the following award is given by Govern :

[ (A) Draunacharya Awards ’ };B) Bh?;;ﬂ::iia::than 10 a sports man ?
(C) Maharana Pratap Award (D) Vijugishy Award
M;maﬁwwmﬁmmmwmhm
(A) WO SR (B) 51 Qe i
(C) BT Sam e (D) A qevarry

208 & 6
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21. Which of the following districts of Rajasthan is a part of Ghaggar plain ?

“ (A) Jhunjhunu (B) Nagaur
(C) Churu (D) Shriganganagar
Brer # Q Troreela &1 wA faren g AT @ T 27
(A) 5L (B) NN [

C) I (D) AR

22, Jhamer kotra is famous for which mineral in Rajasthan ?
(A) Gypsum (B) Rock Phosphate

(C) Silver (D) Tungsten
aTR Preel ISR ¥ 5 a@fre g ufig © 7

(A) forem {B}m
(C) =l (D) TmEA

@ The dance of Bheels which continues for one and a quarter month is —
= (A) Gindhar (B) Gavn
(C) Valar (D) Gar
Sl @1 Ta AR qF qe el T B o
Yo 150 el £

(A) TMiEs (B)
(C) dTeR {u)_}‘“/

24,  Which basin is located in the Thar Desert ?

* (A) Gorwar Basin (B) Kanthal Basin
(D) Banas Basin

(C) Chambal Basin
Fra 3 gR—Tewrd A ﬁw‘%._?

muﬂ%ﬁ afeH (B) wigd aff
(C) ¥ AR (D) T AR

25. In terms of area, the smallest district in Rajasthan is-

. (A) Dungarpur (B) Dausa

(C) Dholpur (D) Banswara
<o A erwel @ gfte A ey Bl fren 8-

(A) R (B) <
(©)_Hgw (D) e
L-I1 7 208 @

=)D OV, 2N 4




-

FRESHERS NOW

Name of place where Meera spent her 135:;:1'5‘:;:1 davan
— (A) Merta cdabﬂd
(C) Dwarka (D) Anmed,
M#mmwmwww'm;
(A) real (B),
(C) ERE (D) ST
.\
AT ed ?
é-’\jAm:r the revolt of 1857, Gun Salute of which State was reduced *
“(A) Bundi (B) Dungarpur
(C) Jodhpur (D) Kota "
1asrﬁﬁﬂa$mﬁmﬁmﬁ?ﬁﬁmﬁmﬁﬂn§ B
(A) T (B) $WEY .
(€) SR . (D) @
28.  On which river is the Bisalpur dam located ?
' (A) Bedach (B) Chambal
(C) Kothari (D) Banas 1

IrergR @ fre T W) Rea @ 7
(A) dsd . - (B) ¥ '
(C) ®rer ) i {D)_/WK :

29.  Chhappan Plain is located at- 5

(A) Barmer (B) Bharatpﬁr

(C) Banswara (D) Udaipur

o &1 de g & -~

A) aATSEY e
(A) HIS (B) AR “e

(©) wwEEr (D) SR %

30. Who is worshipped as snake God ?

(A) Tejaji (B) Harbuji
(C) Dhanna (D) Pabuji
|Gl @ a1 & WOH B qo oy @ 7
(A) o (B) wqoh 3
(C) w=T (D) ﬁ
208 1 8
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‘Prithvira) Raso’ was written by

(A) Nagarchandra (B) Chand Bardai
(C) Mohammad Jaisi (D) Jaynak
sz TEr @ AR 9- jﬁ_fﬂ*
(A) TRE= (B) BEavEry
(C) WewE ATa (D) @

Kalibanga civilization was discovered at the bank of river —

(A) Banas (B) Drisdvati

(C) Chambal (D) Berach

fra 7t @ IR STele wwar org g ? e
(A) T (B)—ZLE

(C) & (D)

Who was the Prime Minister of Matsya Sangha ?

(A) Shobha Ram Kumawat (B) Manikya Lal Verma

(C) Heera Lal Shastri (D) Tikaram Paliwal
Ao WY @ AT e g ?

(A) TR gHEd (B) =forEm &re qHf
(C) & I (D) EFRM grelard
Which crop is grown on the largest area in the State of Rajasthan ?
(A) Wheat - (B) Rice

(C) Maize "~ (D) Bajra

TR g ¥ WAt dEnd W fhw B B W 85w ? |

a) & (Fi);jj‘/
(C) wamT (D)

Which park is famous for green pigeons ?

(A) Sariska (B) Ghana Bird Park

(C) Ranthambhor (D) Sitamata Sanctuary

W HEN JUF RIS © 7

(A ©(B) U ueh fEr

(C) YRR (D) WRIHRT FRYY
9
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. o A N
,1?, N;.:g h(r.;dt pertains to which animal @) Sheep |
["11 - 7 -
p) Cov
(C) Camcl L
et et e wyp @ Way ¥ B 7 :
oy G
(A) ddaal (
(€ ¥e (D), T

ra’ was built 13 '

i i
= . i -Rﬁ huﬂ'llrll
@ The name of the ruler of Mewar during whose reign . /
(B) }agatsmgh I

— (A) Sanga ' .
(C) Raysingh | (D) Rajsingh

: - ; gall &AT—
HATG B WHS & AW e yrEEaTE 7 oy @1 frai §
(B) wrrdide weH
(D}yﬁ{i%‘cﬁﬂ

(A) I
(C) i wery

38.  When did Alauddin Khilji attack Chittor ?

Ay 1301 AD. (B) 1302 A.D.
(C) 1303 AD. (D) 1311 AD.
SATIETE (el A fadle w9 ampaw fagr 2

(A) Es;i/ (B) 1302 €,
©) f T N(DY 1311 §,

351': Which pair is not correct ?
5 (A)  Ummed sagar- Jodhpur (B) Nawalkhan -Kota
(C) Jaisamand lake-Udaipur - (D) Pannalal Shah- Pund-.lhunjhunu
BITH g TE A & P
(A) SRR HR -SRI (BLM "
(©) T dia-stagR - (D) T w Mg
40.  Which district has the m 1 li ' .
i axtmum literacy rate in Rajasthan g per Census 201 1o
old (B) Jaipur :
(C) Alwar (D) Ajmer
2011 &) o '?ﬁsiwﬂm#mfﬁlmﬂmmaq
(A) : T RIS By 35
(B) SmagR : :
208 % i
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41. The father of sociometry method is -
(A) V.V, Akolkar (B) J.G. Home
/\] (C) P.V.Jung (D) Moreno
'Lf garafafa fafr @ s=grm & —

(A) BH FPEIR {Bj/:%@“
(C) widn g @ b
42.  Which of the following is not the correct match of leaning theories and their fou
(A) Theory of Reinforcement — Kofika
(B) Theory of Insight — Kohler
(C) Conditioned-Response Theory - Pavlov
(D) Stimulus-Response Theory — Thorndike
Frer 3 9 Wi vl T o weda % i e ] R 7
(T (A) et & g — Faa
-7 (B) gl T g — FEer
(€) wae-vfym Rigr — gaeE
(D) el g — ureEs

nder 7

43. ‘Rorschach Ink Blot Test’ is used for the measurement of -

(A) Intelligence ( (B) Interest
(C) Achievement (D) Personality
N e el e oy w1 s fen o € -
(A) IE @ 7uE & forg (B) wfa @ & ferg
“(C) Sydf @ 7R @ fer (D)_=fria @ AIgA @ forg
44, According to psycho-analysts, the human behaviour is directed by -
" (A) Conscious mind (B) Unconscious mind -
(C) Sub-conscious mind (D) Environment
o FAGTemEfEl @ SER A AIER @ wa—
L @) (B) T g
(C) Suga+ w4 gWI (D) aTITERY §RT
45.  Repression and Suppression are the types of -
(A) Motivation methods (B) Adjustment methods
(C) Defence mechanism (D) Teaching methods

fﬁy' S U4 T US § —

~ (A) St fafer ® T Rftn 3
© - (D) fuwror faftrai o

L-11 11
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i-I 46.  The factor which does not affect the mental developme®
! 4 (A) Environment of the family
| (B) Religious environment
;:. (C) Social status of the family \
I (D) Economic status of the family
o R RER @ I B AT SRE A8 £
Y (A uRar @1 awErERe ( Wﬁﬁﬁ“' S
(C) ufigr o grfers Refer (D) TRaR @
: d the theory of
47. Newton saw the apple falling down from the tree and suddenly he discovere
 gravitation. This is an example of-
(A) Insight {B] Thmkmg
(C) Motivation D) Incitement
Wﬁﬂ&{ﬁmﬁﬁmméﬁ)wmmﬁmﬁm
& | U8 IS -
V@) e (B) ffer @
(C) “*:'Ffrﬁ?ﬂ'rr Tl [D] SR F
43}. The factors responsible for frustration and mental conflicts are-

(A) Biral_ogical and physical factors  (B) Emotional factors
(C)  Social factors (D) Allof the above

\\nwwmﬁrﬁ?ﬁgﬁaawﬁ—

49.

YA) SRy oF W e {H.}~ GERIRGE]
(©) wrifos sre {DM

By leaming outcome, it means-

(A) Change in the behaviour of child

(B) Change in the teaching-method of a teacher
(C} Completion of the syllabus

(D) None of the above

3iferm areayd g

V(AL e @ e 4 2 o ' )

208 &

-araa:mwfa'cﬁmﬁfg@mm

(B) ﬁmﬁﬁaﬁf@mmﬁrﬁmﬁqﬁaﬁq -
(C) e w1 g By ~,

(D) Sudw # § &1 =%

(A) Family

(C) Mass-media
(D} Magazines

(A) uftar : ;g 1 =
(C) T —ar Hregy
(D) 9F—ufagmy

12 R ‘

:mg@a.:w 12 025
N T— -
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51. Endocrine glands are which type of factor that affect personality ?

(A) Social (B) Hereditary

(C) Cultural (D) Allof the above

e T Rt afe B WG B el B BRE £ 7
V(L (A) wrfs { &

(C) WRSfds (Dy Sudad @i

52. In modern education, the use of psychology is based on-
(A) Individual differences (B} Religion
1 (C) Class (D) School management

-~ W @1 IR SR B -
(A) fafy=Ternan o (B) HH W

(C) =i W L - (D) fremer waRE R

@ Who did the heredity related cxpeﬁments on rats ?

~ (A) Karl Peasron (B) Mc Dougal
(C) Mendal (D) Pavlov
av% yarr gel o) fhe e ¢
(A) A o T
) dvsd A () e A |

Which is not the part of memory ? e
(B) Thinking

— (A) Leaming
(C) Retention (D) Recall
wfer 7 3T B TE ' 7

(A) 3feRTH (B\gBRT

©) ay/ (D) FHEROT

55. Performance tests of intelligence are useful for -

T (A) Children (B) Deaf and dumb
\ i1 (€) Illiterates (D) Al
- EE o frurere oheor TRl E -
(A) sl & faw ~(B) T 3R g} & foru
C) Premi @ R (D) 5 2 fim
L-I1 ) 13 ﬂ
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56. Who propounded the theory of Psychﬂ'an[ﬁ]gsmﬁﬁckson
" (A) Sigmund Freud (D) Bruner
(C) Jean Piaget ?
- P R @ s R O
A @) FRPIT
NV (A)fHmITE HTES l
(C) o fram (D)
57. The psychological cause of delinquency g =
| ' B) War rgans
(A) Suppressed desires ent of S€X 0 g
(C) Chromosomes (D) Rapid developrt
AT T GAETAG BRI 8-
(A) ; (B) &
- (D) G o i
(C) Tu—A

58. Conditioned Response Theory is -
(A) Theory of Intelligence
(C) Theory of motivation

(B) Theory of Lcar{ling
(D) Theory of teaching

(O Srafea wfafear faers & -
\)/m; afz @1 fgr (@) 2t T R

(C) sfren 1 g (D) fRme &1 fagr

59.  To propound the theory of learning, I.P. Pavlov experimented on -
(A) Rat (B) Dog .
(C) Cat (D) Monkey

e e @ s @ g o, . e 4 v iy

() TR (B}M
(C) faweh w D) TR W

60.  The Kindergarten method of teaching is based on.-

. (ﬁ}} Project method (B) Play-way method
f \\] ) Suwe}:f method (D) Heuristic method
Rieror 31 feevmea vgfy amnfye 2
(A) W ggfy w (B)Ljéa:ﬁr;q
(C) wdewr fafy gx . D) TGRRes Ry
208 & 14 2
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make distinctions among the moods,

(:li. According to Gardner, ability to notice and
is termed as:

temperaments, motivations and intentions of other peoples
(B) Interpersonal Intelligence
1-Mathematical Intelligence

el offt geowRl @ WHEDY

(A)  Musical Intelligence
(C) Linguistic Intelligence (D) Logica
MEAR @ AR, Iy afidl @ AeEw, W A

I fes &= @) abud] FEERED e— 1 M
I:.“ﬂ\:l THT-EIIIL‘:]CT ] Eﬁzq_ [B} C ji—fﬁi}i gﬁa‘

(C) wiftw gfE (D) af¥w—Terda qf

62.  Which intelligence type has not been suggested by Gardner
f (A) Interpesonal (B) Bodily-Kinesthelic
(C) Cultural (D) L;}gical-Mathcmalical

,‘-'j_l, qfe &1 B W UFR MEAR BRI SET erar a2
(A) sreRdufdTd 3y e WA
(C) Wﬂ'zr/ (D) enfes—TfrEg
63.  Which cannot be a characteristic of energetic friendly child ?
v (A) Cheerful (B) Sociable
(C) Easily annoyed (D) High energy level

HIF O FWaE A=ad ardE B G0 g 8 7

(AL’;H;? ' (B) WIS
(C 3 fres gren (D) Sul @ Ied WX

64. Which of the following is the earliest and most sustained source of social contact for the

4 child ?
(A) Teachers (B) Family

(C) Co-workers (D) Friends
arEE @ B A W @ 9 amiTe gWe @ Gid wa URME iR e offte el

qrel & ? o
(A) R (B_y/wﬁaw/' )

(C) wEH (D) f=r

65. With which of the following techniques the terms such as Star and Clique a

A7 associated 7

(A) Observation (B) Sociometry

1\N_AC)  Projective _ (D) Interview
%ﬁ@%ﬂm%w%@ﬁ%?
(A) Y& ) (BY\—z#TS]|
(C) yad (D) HEIER

L-11 15
2022,92;1295:2520
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66.  Unconsciously utilized strategy that serves to protect the €go from anxiety
" (A) Defense mechanism (B) Selfpmlecl'mn e
(C) Selfc cept (D) Self protection stmtui}
ma;jﬁ'wﬁmmmﬁ@w#@ﬁ_@ﬂ !
(A) i gfg - (B) W Tum ~.
€ = / (D) ¥ "uig PEIgAn
i ~lves is called
67.  The composite of ideas, feelings and attitudes people have about themselv
" (A) Body image (B) Self knowledge

(O Self concept (D) Body knowledge 5 5 3 IETI
??JW‘I? NI, HTg=r stgfera W < @f g7

S@ ww B) wW-zm
ﬁ;:,\ © w@w- (D) R T
i

3
Gﬂ. Who has explained Stage Theory of Mo

ral Reasoning ?
-/ (A) Kohlberg

(B) Erikson
(C) Freud (D) Pavlov
MT 7 o SR R fevr v Ry 2
(A) Freeed ; (B) - gR@ae
(C) wge (D) Yaem

69.  Ability to fee] emotion as ex
— (A) Empathy
(C)  Equi-emotion

perienced by others js called
(B)  Sympathy
(D) Equi~cxpcricnce

(A)  Preconventional
(C) Pnslconveminnal

: (D) Pre-Post convept;
Fea cnt 1
) T & Rear @ s e 1 B

R CES B At F Foty :
TRaRe siamena TRING. e v gy o Pt o AR Bl Eﬂﬁ} S,
(A)  THursafys - (B) urwfp W
(C)  uvgurR=RE D)  F-93a Ry
208 & 16
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@ A child of ten vears who succeeded on the jtems passed by most six years old was
— considered to have mental age of

(A) 6 B)
(C) o0 (D) 1(}0

@ qv al @ @ ol 9T T W e g ¢ R W st o i 9w
AEe A 8, @ GRS g w

() 6 i (B:I r"ﬂ]‘
I __-;Lgi)
(C) 60 0X! D)
gg\fa o

Bulimiais a

(A1 Attention disorder (B) Eating disorder

(C')  Reading disorder (D) _Calculation disorder
(A) Mﬂinﬁ_@'ﬂgﬁ'{ (B) Ao TET Wﬁ’
(©) e T (D) o fagf

73.  Which of the following theory of intelligence is based on cognilive process ’
(A) Sternberg’s triarchic theory -
(B) Gardner's multiple intelhigence theory
(C) Guilford's three dimensional theory
(D) Spearman's two factor theory
fyefafg § 9 &9 W g%mﬁﬁmmﬂwmmmﬁﬂ
(A) gt # B e 4
(B) miER @ 98 dfe Regr
() firens femamd fagra ”
(D) e o fRene e

74. @ Who ol the following has cmphnsnzed on social learning in personality development ?

— (A) Bandura {B]’ Freud
T\ (€) Maslow (D) Wundt \.
Y i @ R af Rer 3w ST R T G E
(B) WU J

(A) aUg
) sk 0). T

the following does not affect Ianguage development ?
(B) Motivation

(D) Height and weight

75.  Which of
A (A) Maturation

(C) Heaith
fd%ﬁﬁaﬁﬂwnma%fafﬁmaﬁwrﬁﬁ?am?
(A) oRuaEdT :B) T
(C) =4 - ..
- 13 208 &
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WS shildren ?
76. Which of the following is an appropriate technique 10 teaf:h dlsc,li}'i:_::f: o €
- (A)  Authoritarian technique (B) Democratic t§61!l1 q
(C)  Permissive technigue (D) Passive technique o
M1 R @ ey e ) o fRram @ fg S B
(A} Srjcarers ofaf (B)_werite ufaf

(C)  rafogel ufafy . (D) faftpy ufafs

T i ; . a starting point to home is
77. The test in which the child must trace the correct route from a starting p

called :
(A)  Coding test (B) Mazes
(C)  Objeet Assembly {D) Block Design . .
Ef: ﬂ?mrmﬁmmﬁmm:mﬁ:ﬂﬁmmﬁﬁﬁmmﬁwm*ﬂﬂ
B, FEEAT - o
(A) T v ()l '\
(C)  avg \wer. (D) &t fAsior

'?i. Who explained mformation processing approach to intelligence 7
(A) Stemberg (B) Binet

= (C)  Terman (D) Thruston

\\_af& &y way (HTRT) SurT wrauig e fsgr »

T (A) e (B) fas

(C) eo (D11

-

79. Who discussed the concept of Latent Learning in his theory ?

(A) Hull (B)  Bandura
. (C) Tolman (D) Guthrie
'meﬁmwwmmﬁm?
(A) &= (B)  gFugy
(C) Zferm D) T
80.€ According to Spearm: ‘hi “the fi ing ]
— ability th; wm:l[:'i bg]::il:nl‘:;ﬁi}; :Ifl 3;;;:1:5:‘;:;5513 e used for menta| snergy or
(A) P-factor (B)  S-factor

a (C)  M-factor (D)  G-factor
I\ e @ | 4
Y ?W.wﬁmwfxwﬁamﬁmm

i | ~T P =y
(A) TR (B) T-wiem
©) T (D) Do
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On applying a small pushing force on a heavy box placed on a rough floor, it does 1
move. This 1s because : the
(A) The frictonal force between the surface of the box and the floor halances

pushing lorce - )

(B) There s a strong attractive force between the surface of the box and the floor
(C)  The eravitational force of the floor keeps the box fixed
(D) The adhesive forces exerted on the box by the 1oor are strong s
S G R TR U A A g e @ e @ eI wwa & aR
48 fargma, waiie . 2
(A) I a4y @) IS AR B A oy ge A 79 @ agfaa axare |
(B) vl va @w @1 w9 36w @ g swerga el A 8 -
(CY ™9 T [HAFEY 9 9/ &) Rew ogdr 2 |
(D) wel gR1 @ uv AR Ao an Fgd ® | ‘
When o motorcar makes a sharp turm at a h'h'll.spccd_ we slip to one side of the seat. This
1s because of

(A) Frctional force (B) Gravitational force
(C) Repulsion force ' (D) The inertia of our body
v B HERER @ 0l @ e e e o ed & @ e e #1 1@ 3R EAIEE

2| TUFH FRY F ?
(A) o A, (B) @Y ad
(C) uferador ae (‘D_]W T ISl

The force of friction

(A} Always acts in the direction of motion

(B) Always acts against the direction of motion

(C) Has no particular dircction

(D} Has a direction depending on the size of the body

v dF -

{W & o A ol avar &

( & fa & e @ fagda v At g | s
(€) @ o fadw ey @ &t 2 | |
(D) @ R av] & IHR-R ARk Fwh 2 |

According to Newton's third law of motion, action and reaction :

(A) have same magnitude and dircctions

(B) always act on different bodies in opposite directions

(C) act on either body at normal to each other

(D) always act on the same body _

=qEs # M @ A @ aER, v ga fifear -

(A) @ o e g AR E |

(B 7 3 Py avael w Rode femen § e e 8

(C) fh f o o W TP qER D eI P B B |

(D) W& UF & & W @l & |

The linear momentum of a body of mass m, moving with velocity v is :

(A) 'Am? (B) m?
(C)  (my)? D)_.mv.
fore awg o S mﬁi’%v@’fﬁ‘f%@ﬂ_ﬁ;y_ﬁm_
(A) am? _ (B) myv
(©) (mv)’ (s
12 4 208 %

o)== )2 a)=)hElE
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86, Thc salt formed by strong acid and strong b:;ﬁ cH, COONa FRESHERS NOW
4 (A) NH,CI (B o
(C) K,SO, (D) Ca

e 37 U9 Wad &R O @9 arel 'élﬁ‘JTBﬁ -ACH i
= .--T F l‘ ’
(A NH,Cr (B)

' D) CaCl
©-K .30, pep e o4 o) CaCly

(A

,w-‘fhe chlemical formula of Nitric Oxide is-
& (A) 'NO ®) N0
(C) NO, (D) NO; - .
TRILE sfiewmes &1 R w1 & = P a N "L
‘_,F[:Y/NO fw : ‘45";1___1-&'
(C) NO, =fi s ‘D) NO; 4o\ Koo

-

Bf_&.-"fAtnmic mass number i1s equal to-

3 (A)  Number of protons in nucleus
(B)  Number of protons and electrons
(C)  Number of protons and neutrons m nucleus
(D) Number of electrons
IEI F TOHA FHIE R R
(A) HE ¥ Qo= o g s
(B) W 7 gHaA @ any
(cprﬁvnmﬁa‘rwmﬂﬁmmn‘m

(D) soaem! & i ~
EP/Thr: substance composed of only one element is-
' (A) Brass (B} Steel
(C) Graphite fD) Polythene
TS & a9 iy gt & —
(A) dis (B) - &wumm
(C)—Ttnrge (D) dfefrefr
. The substance that does not form oxide of carbon op humm;_,_
P ~ (A) Diamond (B) Paper
(C)  Sodium (D) Nvlon
ug e Frrmrwmmaﬂmﬁﬂﬂm e |
(AY" Bl (B) @1

‘CJ--@ D) e

208 & No.\-\-}/] 0
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. 9.1' The gas in air that has maximum percentage of presence is-

(A) co, (B) 0,
€) N, (D) €O *
ary W gaferd a8 19 g sfva sfisem 2 £ ‘4
(A) CO, (B) O,
N (D) €O

| 92. ~Which of the following is not a physical change 7

(C) Dissolution of salt in water (D)  Combustion of LPG

Frferfaa 3 @ o $ife dReads 98 @ 2

(A) 9l &7 Iqd FX ARG FA (B) aw &1 faudsy grl &h T

(©) & T Gl il D)@ drh. 71 2
In dicot plants, the tap root is formed from —
~ (A) Adventitious root (B) Radicle '
(C) Plumule (D) Fibrous root
A &Wmﬁwlﬁ{ﬁm"ﬁ%_
_j-*“ (4) ST @ 2 (B) ARG §
(C) W (D) T @

In which of the following fasciculated roots are found ?
= (A) Ginger (B) Ground nut

(C) Pea (D) Asparagus

(A) Boiling of water to form steam (B) Melting of ice to give water

FRESHERS NOW

\0 W#?WW&WW#W%WM?

cWﬁ (B) el #

" () wWeR# (D) EAER (THRTE) §
\g,f::fWhich of the following is an insectivorous plant ?
" (A) Euphorbia ' (B) Utricularia
(C) Calotropis (D) Trapa

e FEddaeehdoe . S i
T (A) R (gwRRa . {B)\ TR (G

(C) &% (Calotropis) (D) THETI (Trapa)

J

L-11 21

208 €
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9!:.,/‘5]13’11013.1:}* 1s -
o (A) Inflorescence
(B) Pattern of arrangement of leaves on the stem/br
(C) Anatomy
(D) Leal movement
goifarg & —
(A) TUEH
. (B AEITE W UK F) e
Al = (O srERen
; (D) utl &1 feerr

anch

97. Hanging roots that support the branches of a banyan trec ar¢ called-

' (A) Tap roots (B) Prop roots
(C) Dangling roots (D) Climbing roots
o mwfwﬁﬂaaﬁmmwﬁwmmgéﬁﬁmm
AN 2 (A) HEen TE (B)_3rdwr™ el
(C) wead gd (D) 3IRIE A
98. Hydroponics is the technique of growing plants in-
“~ (A) A hypotonic solution ~(B) A hydropower plant
(C) A nutrient solution ~ {D) Anisotonic solution
L o e ¥ freR 7 A aeda |
AT (A) tE sRRT Re (B) U wAfreh wam
(C)L 7 e e D) T& WARE femm
99. In photosynthesis which of the following process takes place in stroma 7
} (A) Synthesis of sugar (B) Photolysis of water
..~ (C) Electron transport (D) Emerson effect
JAME 7 WﬁﬁmﬁﬁmﬁWWﬁfﬂfﬁ? =
(A 1 @ HEAY (B) ST T YR arqeresy
{C) EGCHMURIECRS | (D) wdA wa
lﬁﬂ" The transport of food through the phloem tissues of pta.nts 1s called- - I
(A) Transpiration (B) Translocation
(C) Diffusion (D) Absorption

el @ GAIH Hhad & ARgH | HiaE @ ORaes B o R

T (A) daTEIeEA (B) ‘Mﬁ
(€) faR™ (D) 3Ty
208 & F ¥4
| S '
FOZRO IR 9=~
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.“"‘_, A schoal ina village is 2 km nopy o
. (A) Usciul
(C) Anend poimt
frd g " Udh ¥ el ?7-:'}1'-] Ee i
(A) Fqrl -
(Cy UE are fag

-

FRESHERS NOW

f the railway station. The railway station is

(B) A reference point
(D) Insignificant

foft e fRem 4.2 1 g1 erEvo) A X6 wRIELF

BT fader fag
{ ij rﬂ']’m

2" A person starts from a poiny : .
'ﬂf" e poInt A, moves 2 km to reach the point B He returns back from B

1o the point A Which of the 'If-"”‘:’“""# i
(A) The displaccment is zero )

(B) The total distance covered is zerg
(C) Both displacement and torg| dist
(D) The total distance covered jg 7ero

Slrue !

dNCE covered are zero

but the displacement 1s not zero

UF WA G AW IR g ) Ry TEY fifg B 9Tl &) 98 B @9w fag A W

e andt &4 HWQ}!EFPI?FH'!?EEH
(A) TYTR
(B) T WX FHA TH = @

(C) aﬁﬁ?@mﬁmﬂuaﬁng@@gmgi

R & 2

(D) ﬂﬂﬂﬂ%ﬂiﬁiﬁﬁ;{-ﬂ%ﬁﬁwmaqmmﬁﬁl

L,I[!:(The STunit of speed 1s
oA kmr
(C) cms
el & SIAEE 2 |
(A) f@sivaer
(C) |4

!Dd,- If the velocity of an object is changin

(B) m/s?
(D) m/s
(B) ARy
(D).

£ at a uniform rate, for.intitial velocity u and final

Py . : :
71 wvelocity v, the average velocity 'V, is given by

u+t v 4

(A) Vm‘: 2 (B) l'l‘zll:iw»,':l‘l"?1|‘I
o uxy o Aluty

(€) 1""m- By (D) ‘l‘-'.'-‘-'z 2

o2 T w1 A G B @ R € @ TR A o s A v &

+

(A) W2

: 1]
{C}, 1\'Illa'.'z 2

X k2
-

-

u-—v
B V=73

u+vy
(D} Vavm 2

\1/[5“1? a particle moves half a circle along a circular path of radius r, the displacement of the

=" particle would be:

(A) Zr
{Ergr; 2nr
g @V S () @& qaeR 9y H
forers gy - SN
(A) 2r
(C) 2gr

L-11

(B) =r
(D) Zero

T FR T B | AT W I B gy gwa
Eil/ 2 lr]\‘/'

D) YA - i, 2 O
2= 208 ¢

2H22,0212 DR
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5
| | “33)
106" The odometer is a device which measures . o
v 1 (A) Speed (B) Veloaity T =
(C) Distance (D) Displacement L\ ] ‘r'!l
Meiey va a9 B S e € e }9' 531
(A) =& (B) a7 : ; r:ib 12k
() g~ o (D) fAT et
107. We first sce lightning and hear thunder only aflerwards becausc 2

| (A) Our eyesight is better than our hearing power
(B)  Speed of hight is much more than speed of sound
(C}  Sound always travels a larger distance than light
(D) Light travels a much smaller distance than sound

UEd el @t e fwd immmwmﬁwﬂﬁwﬁm

c?‘rﬁ» 'fuﬁa )
(A) &EWmmﬁaﬁﬁm Y= = 3
(B)_ Ty ﬁTT%EHﬁﬂﬂ%ﬁ“ﬂaﬁ?%I

(C) wﬁﬁmwmﬁa@v*ﬁ:mﬁmﬂ
(D) Wmﬁﬁ‘ﬂ"ﬁﬂ?ﬁﬁumﬁl

if a body is thrown vertically upward with velogcity u, it will go to a maximum height of :

— (A} wg (B) wlg
(C) u¥g (D) w¥2g
U e 97 0§ FHEkR SR dE o @ |w$wﬁﬁi;ammg_h
Bl :
(A) wpg (B) w2g 9 "
(C) wg . (D) ,u¥2g

A boy is nding on a merry-go-round which is moving with a constant speed of i2 m/s. In

this case the boy is

= (A) Moving with uniform ve[ocuy (B) Moving with no acceleratmn e
(C)  Inaccelerated motion . (D) Atrest T

W*?f‘wﬁ*ml?mxsaﬁﬁ?ﬁ?ﬂaﬁﬂﬁﬁ
RET R | S A A @ 9w e uwmﬁaﬂ
(A]u}émﬂfﬁﬂﬂﬂmmmﬁ | (B) & & &

R,
(Cy @@fRa wfg # 2 . (D) fRmH{ ¢ W%I
IE{}. ;1sh:t direction of velocity of a hody moving along a circle, at a point o the c_i,':?‘,“ar.- path
"~ (A) towards the centre of the circlc. (B) alonga langent to thay point
{C] dlung the radius of the circle = (D) cannut be determm d_ o A
(A} tj?fﬂvﬁiq"?m ( T Wi o ' g,:'
(©) 70 FN B @ argfear (D) S T8 P o gy S0

208 % 21 y\\,
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"1 Suraj carned ¥ 10280/- |asy mon

th. This ' o s F10Y Cmuch
amount did he eam this mongh, » month his earning increased by 10%. How 1

() f1298s (B) 11308~
{WC} 11%219;:\{!3 4 T 10280/ q ) LIt
~ T, e e ad R e
o el W @ 2 Vo5 TEW T T (0% U3, TR W “*‘*1915&;
R (B)__H308/- \o ¥ ?'“{mg&f Hﬁ"’?
() NI36 (D) 11409/- |42 r TV 3 !
112. Only two men or only three won i
. e can complete a piece of work in 4 days. In how many
days can one woman and onc man together complete the same piece of work ?
A) j;a}ﬁ.. (B) ‘&i.m}'s
©) Fdp D) % gays
B 2 I7Y U DT 3 WA uF
Tan‘qu%ﬁ“-’lfﬁ'ffﬂﬁ?rEﬁTm‘ﬂ 1 Az,
Gﬂ?1ﬂ*ﬂﬁﬁmﬁﬁﬁl l?[l:ﬁ'[rr}q?
(A) (BT (B) g-é-f?;q A\l T s
48 : R
© Ffa - f%;:f Nl === "4 2R3
_ 2,3 ——= 4-
13 IFA.M.of6,7,9,x is 10 then value of x is- |
LA 20 T S x'g@-ﬁ
| L% 22 (D) 24
6,7, 9,.x T HATRIY HeL 10 &Y, af x 71 01 & = " 0
(A) 20 (B}\rw é Jfr‘l"uf “‘n”ﬂ e \
O .22 (D) 24 4 s

0 24X — /,ﬂf-
114. What is the amount on which rate of interst is 3.5% and afler 8 years the compounde
- amount will' be ¥ 3072 ? ,ﬁ—v

(A 2000 (B) 2200 _
(C) 2400 ' (D) 2300 .
W?ﬁ??ﬂ]ﬁlﬁmmas%mmﬁaﬁﬁﬁmnmzﬁmar ?(}
(A) (B) 2200
(© 24 60 q, y el
(© ST R ! Q,,E,:aﬁr\ Gaal

r-""'E
115. The length of a rectangle is 'Eﬁ'cm and breadth is 1m. Its ptnmﬂﬂqf }s .

=i (A) 25m. ¢ (B) 1.25m.
G4 © sm ] @) 10m ""\
&wmﬁm@m W1W

( (m(«./] (B) 125 frex

l\ G Q; (D) 10 WX ‘_’ (—\, IG)\W /

'%”JE?’ ﬁL’z R P K %Jf 1 208 %

al’%‘ 1 '- Q—‘
ol ST W et
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58,
The ratio of two numbers is 4 ; § and nhur LCM is 60 then their HC I 15 = 7
(A) | (B) 3 SFRT
& ) "{ .
() 4 (D) 2 AL
. : iy R ¢ ORI AL
&) R BT HA 4 ¢ 5 8 3 IS ]___t;_.ﬁgl_ﬁ_?/ﬁfﬂ HCF ﬁTﬂ of??"& (,;,‘,-
(A) 1 T o ANS DL

(€)- 4 (D) 2 4}/{ \?‘\ H" L,

. ol a man, a
__117,.% 4536 is divided among 4 men, 5 women and 2 boys. The ratio of shares
A oman and a boy is 7:4:3, what is the share of a woman ?

/ﬁ

Sk

J/f' 1c) %165

qﬁﬂﬁ/i (A) 7324 (B) 7498 &

{C) Tlo6 ~ (D) 7336 - S
T 4536 ﬁﬂﬁ]d@*‘ﬁihﬁ’ﬂﬁzﬁaﬂﬁmfé e god, T Hieddl SN U6

dsLhtF‘%W & AT 743°F | nﬁwﬂf"iﬁmwér ﬁ%
(A) Tzed §E]E[ = (B) 7408 \ﬁ/’)ﬁq
(D) %338

wenty !m. percent of Pranav's annual salary is equal lo ::whl} percent of Surya's annual
5 ~salary. Surya's monthly salary is forty percent of Dheeru's monthly salary. Il Dheeru’s

Q,K}//.mnuai salary is 6 lacs. Pranav's nmnthh salary is-
Q A)  7.68 lacs (S"'*-" (B} 56000/-

Q:.‘*-" _~(C) 84 lacs % (D) 64000/-

lf“/
o

E::,
7.68 TH . . « - (B) 58000/ \ :
% i (D) 64000/ G p et 40 "

II'J'

f%‘/

D/uﬁﬁ' qu’@f///zﬁ

.. On simplifying 903 = 903 + 903 x 194 + 97 x 97, the value wﬂu/gﬂi

@ afife Yo, w7 25 it Wl @ aftE R @ onsf aftver @ e gk gal
ﬁﬁhﬁﬂﬁ i & TGS deel @] = ghie 2 | Ef’ﬁﬁm'ﬂ%&ﬁ—rlzﬁ‘am

el =

|Wmm‘5‘rq,?fﬁam?‘?

\ =
Which of the following numbers is exactly divisible by 99 7 ﬁ"ﬂ

(A) 114345 (B) 135792 Q=,f‘5ﬂﬁ
(C) 3572404 _

(D) 913464
frer 8 9 fam-ien &1 99 § of w9 3 fenfae famm wn ET.E'EIT%? @;‘ICEL :
(A) W (B) 135792 ?,‘a\‘( /,E)j.-}),

!
(C) 3572404 = (D) 913464 L\ \JS‘
1\0_\_

B

(A) 1000 (B) 1000° 0~

(©) 1000 (D) (903+97) -(’/ : (
003 x 903 + Jﬂ‘tx194+wcﬁwmﬁmm§m__ (% \Lﬂl
(A) 1000 (B) 10047 3 et 1,

(C) w00? lﬁ--ﬂblﬂ (D) (90}
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o off - AI C‘I:l-‘” /) ot

fj.{ P
d common dl]TLI‘Ll’]LL 15 d ml! be - LTL.

llI Sum of 40 terms-of an e’:\%{in y
(A) 3204 6"\ G~ ; i (B) 1600 ‘}/_Q/

ol @ 40 T afm "T?'J’?T* Vo qg 2 T AT 4 8, BT }h
=it

first term is 2

(.I"‘I-} 3ZDV‘ [BJ 1GE|.D j - (‘.J.f'l-u,l A(
(C) 1800 agf}*?? {D) - = zxﬁ‘( A0 rl}
S q
Rehan purchased a Bi G 2T i
@ chan purchased a bike for 54000/-. He sold it at loss of 8%. With that money he again
,&purﬁhﬂscd another bike and sold it at a 10, profit, what is his over all loss/profit ? l 4—4
(A) 637/ loss (B) 567/-profit

"-J*‘
g (C) 648/- loss (D)  648/- profit &y g
\y@‘(‘kﬁfwmmnﬁﬁwmmﬁmg@gﬁa T U AW 9y w8 w12 —

~ ﬁﬁfﬁmﬁ'ﬁftaﬁqtﬂ%mmhnmﬁwvmm?? '

\ A‘i = ﬁjﬁﬁ (B) 567
gy (D) 5 :&g nﬂgﬁf
G 0 gm\ z -
@) %o of 520 - 46% of 250 = 7. 84 e P 5
=T (A) 1032 [BJI{]-’LZ lod - ' 6//@,{
S~y O KO w4700
0 — R - T fh . ._
(A) 1032 ?(":{ \A - B‘)_/ﬂ{ //fg/ g’f
(€) -2388 & 1§ -—}’;Zgﬁ ¢ ) —2588 }(&&’f\'\ %

(4,24’4 population of a town two years ago was 45000. It increases by 12% in the ngfe;r L 0
\_ | and decrcases by 15% in the second year. The population of the tm\[} (],‘the end ol two'gy ¢ L

_f years will be- L%
G (A 57960 M ﬁ/ﬁ/‘g g%
(C) 44820 (D) 50400 \

\

!//"

5 a#aﬁujqa;maﬁmmmn%ﬂwﬁﬂﬂﬁﬁrjm—gﬂfe 1ﬁ7
%}%ﬂﬂlmﬁﬁﬁmﬂwﬂ@ =

A gf-l-m i sl

115 Tha diagonals of a rhombus are 24 cm and 10 cm. Its side WIH be- ?:J 9 G 8
(2Re.

(D) I.lr:m ' ['( ?é 8

ﬂ—_(c:] 52 cm a‘;ﬁm,-ufmﬁqam%bl
cLC, }/é’fk = c® ° G
i g ﬁ}%
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126. The ratio between &n. three angles {Jfa quadnlal
f’) X T fourth angle of the quadrilateral is 45", What is the difference between qut-‘./Lht‘,{ st

129,

-

FRESHERS NOW

- ;.A;{T\/ : :1 !}" "JO\ .-;_

eral is 1 :6:2 respectively. The value of the

and the smallest angles of the quadnlateral 7 24

(A)  165° (B) 140° : _x,

(C) 175° (D) 150° '

v s @ I Bt @ sy AT se2 | e @ A BT Y 45T
id@ﬁmma@aﬁ?ﬂaﬁmﬂmmwmdjﬁmm&?w

(A) 165"~ . (B) 140° YO, 244

(C). 328~ L. (D) 150° f

\ Qhﬁ. Fifty three pcrm.m of a number i1s 358 less than the square of 26, What is the value of'three

fourth of 23 percent of that number ?

(A) 101 = (B) 108.5
gm) ﬂ'g Iﬂlﬁ'ﬁ"’ ufaerd 26 @ Tl \ - $ iy
- 26 a‘tfﬂssatﬁq?iwmmzauﬁw qeT
U FT g fhaEr 2 2 Bei T _u
(A) 101 e (B)' 108.5 " ,.-:.i-}’ ?ét} {?u
(C) 112 . (D) 1035 \"\‘5{'13“ 2.0 i r-‘jg
——y _‘_ 'ﬁ
(VI6) x (7256 )*;(ﬁ-i)z-(a)'f - ) v\ 4
(A) (@) 4 19" ’GT
il oy (BT it
(V16)* x (/256)5 = (c»:)z— c4> {(Rax
(A) 5 (B) 4 .
© 7 . @ & TRt b
W 7L

o 708 +619)° - (708 - 619)2 /
A ! ) :
er simplifying 708 619 - the value will be Joad B b /I
(A) 2 L ® (g Hi%— |
(C) 1/4 ™M) 4 =

1_ﬂ8+fl 9)> - (708 - 619)2 L0_Aa
s 2 ]aﬁmrasﬁwummm : %/’/

_®)..
 Sm e
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131. Third pl'l:tpﬂﬂleﬂ*!lﬂfz-md‘hs < \
V- (A) 4 it {BJ E
b O
@ * e
(C) 64 - e St

132. An observer standing 72 1y away fro
top and the bottom of ﬂagﬁtaﬂ' on
of flagstafT s -

(€) 9%83m | (D) %2m
UF A TS AT & 70 fee T
V6 & I 7o A 2 Ry @

g B
(A) 1247 W,

(B) .s27 M
Gk g9y (D) 732

-ﬁli?f) Raju's monthly income is two thifd Son
1,72,800/-, then Raju's annual income is-

(A) 11520/- (B) 151000/-
(C) 115000/- (D) 1152000

| el
m a building notices that the angle of elevation of/the S——
the huilding are respectively 60° and 45°, The

-

s ) FRESHERS NOW

Pa M x 1*3EJ1“3 g = e
TEE r;.«,\,_z_{_}} = S

nﬁthq ) 440

A
__...r-' ’

/

Y W w2 af W Rt @ aw/ e va }
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134. Base and height of any triangle are 10 cm and 20 cm. Area of th %ﬁ“
— height and situated on the same base is - - S s ePara!lclnzram pient 50_1
(A) 200 sq. cm (B) 300sq. cm
(C) 400sg.cm (D) 100 sgq. cm ///’ Z X, ﬂ:UO
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135, The sides of a tnangular shop are in the ratio of 3 : 5 7 and its penmeler is 300 m. Its } SHQ"

area will be-
(A) 300/3m?

(C) 7503m? (D) 1000 ~3m?

(B) 1500 \fmf
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; i36. ¢ circumference of two ecircles 15 EQ/nH.ILr ang 220 umur What is the ‘h“trmu,ﬂ’_" ;
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; b d g

ween the area of the larger circle and the smallest urc:l
(A) 3422 :n (By 3242 m

{CJ 3244 m’ (1) 1234 ' 4>ﬂ/' -
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(A) 3422 7 1 A (f\ -""# (1) 324{2 U ﬂ,/ ﬂ,.—-"" .
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st for 3 »curs Al Hu. gid of

'.FFSh-..eIa tnnL a loan of 50600/- at'ﬂ;x: rate of simple intere

' 7’5 years she repayed an au}a‘u\}t ?Br}f The rate of interest per umum I Sheela '
_Z: togk the loan 15- / n, ,,f -’\ _?h‘\,/ {R.I
(A) 5% - (B) 4% o) 4
(C) 8% “5 “z (D) 6% i B ;’fﬂ
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- \l e
i,}"*f A solid cylinder of glass whose diameter is 1.5 meter and height 1 meter Ts melied and
turned into a sphere. The diameter of sphere 1s- 1 o R
\%i (A) | meler N (B) 0.75 meter
\‘\ 1.25 meler (D) A.5.meter
N Wlﬁﬁﬁmﬂmﬁmﬂm1 frrﬁ‘w*ﬂ?ﬁl§1‘ﬁ’ﬁﬂ:?ﬂmﬂﬁﬂ‘c§jﬁ£ﬂ— :
*od FETar A €, ©) e @1 T B -
(A) 1 #EN i (B) 0.75 " ,’LQ} 5 L
(C) 1.25 #r2w (D) 1.5 #ex E/\/,}
L
139. In a G.P. tenth term is 9 and fourth term 1s 4, then its seventh term will be- g =
L -(A) 8 (B) 6 L J_\
€ 9 (D) 7 ]
el Tquirer Aft @ 1gal g%, g. e UE 4.8, G SR A T € — \
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140. A room’s length is double of its width and width 1s one third of its height, 17 the are '"H (’K 1
four walls is 2592 mz. what is the hejght of this room fq.a f‘.

(A) 36m. (B) 30m
(C) 34m (D) 28m, EE:t A
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